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CHEMISTRY

In which of the following pair, each

- member produces the same gas ?

(A) K KO,
(®B) Na, Na,0,
(C) Ca,CaH,

- (D) Ba,Ba0,

The volume strength of 1.5 N H,0,
solution is

(A) 4.8 litres

(B) 5.2 litres

(C) 8.4 litres

(D) 8.8 litres

In which of the follomng, the ratio of
the sizes of cation to anion is smallest ?

(A) NaCl
(B) KCI
(©) MgCl,

(D) CoF,

A solid ‘x’ on heating gives CO, and a
residue. The residue with H,O form ‘y’.

'On passing an excess of CO, through ‘y’

in H20 a clear solution of ‘z’ is

obtained. Onboﬂlng ‘2’, ‘x’ is reformed.
‘X is:

(A) Ca(HC03)2
(B) CaCO,
(C) Na,CO,
(D) K,CO,

Which is the most basic oxide ?
(A) ZnO

(B) MgO

© ALO;

® N0

6.

7.

10.

11.

AL 0, beoomes anhydrous AICI, upon
heating

(A) with NaCl

(B) withdry CL, +C

(©) with Cl,

(D) with dry HCI gas

Which of the following is not formed ?
(A) NCIg

(B) AsFj
(©) SbCly
(D) PF;

The product of NH, - N'I-I2 + H,0,

Ca** |
—_— s

(A4) 0,
®) H,
(©' NH,
D) N,

The color of liquid O, is
(A) pale yellow
(B) pale blue

(C) green
(D) red i

The basicity of H;PO, is
A1

®) 2
© 3
(D) None of these

CrO, dissolves in aqueous NaOH to give

(8) Cr,0F

B) Cror
(C) Cr(OH),
(D) Cr(OH),
BIMCS
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(A) K,KO,
(B) Na, Na,0,
(C) Ca,CaH,
(D) Ba, BaO,

1.5 N H,0, forerem #t s wifwe &
(A) 4.87RX
B) 52T
(C) 847X
(D) 8.8 7T

TR T S Gad F ¥ 2
(A) NaCl

(B) KCI

(©) MgCi,

(D) CaF,

T 3 o ® W B W CO, T R
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(A) Ca(HCO,),
 (B) CaCO,
(C)- Na,CO,
(D) K,CO,

B T AR A ¥ ?
_(A) ZnO

- (B) MgO

(©) ALO,

(D) N,Os

BIMCS
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(A) NaCl% ¥ |

B) THCL+CHFA

(C) CL, %9

(D) TFHCIFTE

P ﬁﬁﬂﬁiﬂm ?
(A) NCIq -
(B) AsFs -

(©) SbCls

®) PF,

NH, - NH2+H202——-—-—->”<T»TW? '
(A) O,
®) H,

(©) NH,
® N,

@O, TR

- (A) & diem

(B) & e
©) &
(D) &

H,PO, #t &Rt &
@A 1

®) 2
). 3
(D) T T w3

O FET NaOH T TetasT 2ar &
\.cl.\la VT oAvawviir tq ‘a\l"'\ e A1 LB T

(A) Cr,0
®) Croy
(©) Cr(OH), .
(D) Cr(OH),



12.

13.

14.

15,

16.

The following ion in its aqueous solution
is colorless :

(At. no. : Sc = 21, Fe = 26, Ti = 22,
Mn = 25) t

( A) Sc3"'
(B) Fe*
© T+
(D) Mn2+

The oxidation number of Ni in
[Ni(C,0,),1* is

A) 3

®) 4

© 2

D) 6

Which of the following is an optically
active compound ?

(A) 1-butanol

(B) 1-propanol

(C) 2-chlorobutane

(D) 4-hydroxy heptane

In sodium fusion test of organic
compounds, N is converted to

(A) NaNH,

(B) NaCN

(C) NaNO,

(D) NaNO,

Which one of the following is called
inorganic graphite-?

A) B
®) B,C
(C) B,Hg
(D) BN

17.

18.

: 19.

21.

©

Glass +HF - 7
(A) SiF,

(B) H,SiFg

(©) H,Si0,
(D) Na,AlF,

HowmanyCluralCarethcremﬂ-D- R
(+) — glucose ?

(4) 5
(B) 6

©) 3

®) 4

Which is the strongest acid ?
(A) CI- CH, -CH, - OH

_OH
®)

_OH
\NO,

_OH
D)

() E)

\‘CH3

This compound forms a sodium salt
upon reacting with NaNH,

(A)_ C,H,

(B) CH,;NH,

(©) CeHg

(D) CyHg

What is the electrophile when RCI +
AICl, are used in Friedel Craft reaction ?
Ay cit

B) AlCI,

(© R*

(D) AlCL

BIMCS
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13.

14.

1s.

16.

forer ST T SToirT e 3 e v -

(TTA] AT : Sc = 21, Fe = 26, Ti =22,
Mn = 25) '

(A) Sc3t
(B) Fe**
© ' Ti3"'
D) Mn2+

Ni # [Ni(C,0,),1* # aifediiehor ¥&ar

X

A) 3
®B) 4
©) 2
@) 6"

i & ¥ i | v | A T2
(A) 1=

(B) 13T

(C) 2-SeegeT |

(D) 4-TgiRil e

mﬁﬁwzﬂﬁﬁ%%@?smmqﬂawﬁn
Tad Rafoa & S

(A) NaNH,
(B) NaCN

(C) NaNoO,
(D) NaNO,

e 3 R/ N TS AR e ¥ 2 |

(A) B
®) B,C

(C) B,Hg
(D) BN

BIMCS

17.

18.

19.

- 21

. Hr+HF - ?

(A) SiF,
®) HSF,

(©) H,Si0,

(D) - NayAlFg

B-D - (+) — 7o & et R C &2
A) 5 | o

®) 6

© 3

(D) 4

P WEoTaH A E 2
(A) Cl-CH,-CH,~OH

® (O]

~

N OH
o :O:[
NO, .
OH
®) @]: o
CHy

qzd\ﬁmNaNHz%wmﬁﬁmmﬁw
@ﬁmm%m% e .

(A CH,

(B) CH,NH,
(© CeHyg

@) CHg

WIS I AR F RCL + AICL &
IET FR W BN e

(PR T?

A) crt
®) AlCI,
© R+.
(D) AICI;



27.

Nylon-6 is made from

(A) Isoprene

(B) Adipic acid -
(C) Caprolactam
(D) Styrene

Which polymer has different type of
bond between monomers from the other _

_ three ?

(A) Cellulose

~ (B) Wool

(©) Sik

(D) Nylon

In Buna-S, S stands for
(A) Sulphur

. (B) Soft

(C) Styrene
(D) Sodium

Which one is incorrect name ?
(A) Propyne

B) 'Bllt-Z-yne

(C) Pent-3-yne

(D) But-1-yne

| Lewisite, a war gas, is made by reacting

CH = CH with *

" (A) HCN

(B) HCi

(O) AsCl

®) O,

Theproductof CHECH—-E;——) _

is
(A) CH,=CHCI
(B) CH,CH(OOCCH,),

(C) CH,CHO

(D) CH3CH2CH0

29,

31.

32,

(C2H5)4Pb is an example of
(A) Negative Catalyst -
(B) Positive Catalyst

(C) Solvent

(D) Fuel

‘Which metal is used as a ﬁaxt of catalyst
in Fischer — Tropsch method ? :

(A) Mn

- (B) Co

(C) Fe.

(D) Pt

The octane number of this alkane is 100 :
(A) 2,2, 4-Trimethylpentane

(B) Hexane

(C) Heptane

(D) Butane

Identify organometalic compound(s).

(A) CH;ONa

(B) C,HsSNa

(©) CHyMgl

(D) Al

W]nch one is called Westrosol ?
(A) CCI4

(B) CCl,=CHCI

(©) CHCI,

(D) CHCLCHC,

CH;CH,OH + HI —-I:I—O-)CH3CH21

+X +Sn

> Y +HC!; CH,;CH,OH, X is
(A) NaHS
(B) NaNO,
(C) AgNO,
D) AgNO,
BIMCS .
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L
(A) JegeiT
B) A
©) fae=
(D) &=

24, FAN-SHS TWH WAL :
(A) TR
(B) TemEH

(M TS
“-’J A" e AT

(D) Wfeam

25, PN AW T R ?
(A) W
(B) 23R
(€) =-3-3H
(D) =qZ-1-a

26. TR, T IE M A IO CH=CHF

wmﬁaﬁhmm%
(A) HCN
(B) HCI
(C) AsCl,

®) O,

CH,COOH

27. CH= CHT—WFIW%

(A) CH;=CHCI
(B) CH,CH(OOCCH,),
(C) CH,CHO
(D) CH,CH,CHO
BIMCS

29.

31.

32.

33.

(C,Hs), Pb Th! ST & :
(A) TS SORH

(B) 4TS SORE

©) Fors

(D) ¥

fire — ;m?aﬁtﬁaﬁqz&uﬁmm
iferes W & 2
(A) Mn

B) Co.
(C) Fe

(D) Pt

mqﬁna&aﬁaﬁwmm%:
A) 2,2, &mﬂﬁ!ﬂﬂ%ﬂ

(B) TRA

(C) A

Fam) -
D) e

aﬁﬁﬁﬂzlﬁﬂﬂ?@ﬁﬂﬁama‘\ﬁma%
TR |

(A) CH;ONa

(C) CH,Mgl

©) it

B A T ?
(A) CCl,

(B) CCl,=CHCI

(C) CHCl

(D) CHCL,CHCI,

CH,CH,OH + HI ——s CHCHl

+X gy +5n » CH,CH,OH, X ¥ :
+HCT
(A) NaHS

(B) NaNO,
(©) AgNO,
(D) AgNO,




.

37.

X + Br, - CH,CH,Br + a gas + a salt.
Xis _

(A) CH,CH,OH

(B) CH,COONa

(C) CH,CH,SH

(D) CH,CH,COOAg

Which is hygroscopic, sweet in taste and.

non-poisonous ? '
(A) CH,OH

(B) CH,OH - CHOH - CH,0H

€ CH;0CH;

(D) CH,CH,0H

Which ‘is used as a solvent during
reactions with Grignard reagent ? -

(&) CHOCH,

(B) C,H.OH

—piigi il

(©) CHsNH,
®) ccl,

This is added to ether to test its purity ;
(A) C,H,ONa
(B) KI
(©) KC!
CH,; CO\
® 4, c0/°

This is oxidized to prepare methyl ethyl
ketone :

(A) 2-Propanol

B) 1-butanol

(C) 2-butanol

(D) t-butyl alcohol

This does not convert a ketone to an
alcohol :

(A) Zn|Hg +HCI
®) Ni
© LiAIH4

(D) NalHg + H,0

10

41. I
.. (A) Propan-2-one

- 42,

The number of isomeric aldehydes for
C;H,,Ois

(A) 2

" @B) 3

© 5
D) 4

Which is a mixed ketone ?

(B) Butan-2-one

"(C) Pentan-3-one
_ (D) None

This does not react with Fehling’s
solution :

(A) CH,CHO
(B) (CH,),CO
(C) HCHO

(D) HCOOH

This does not
condensation :

(A) HCHO

(B) CH,CHO

(C) CH,COCH,

undergo aldol

(D) CH,CH,CHCHO

Acrolein is
(A) Ketone
(B) Aldehyde

(C) Polymer
(D) Protein

FeSO, + H)0, is called
(A) Fehling’s solution
(B) Benedict’s solution
(©) Schiff’s reagent
(D) Fenton’s reagent -

BIMCS



37.

39.

X+Br2—>CH3CHZBr+Q$ﬂF+Q$'ﬁEM
xX¥:

(A) CH,CH,0H

(B) CH,COONa

(C) CH,CH,SH

(D) CH,CH,COOAg

P ST, PPN

(A) CH,0H

(B) CH,0H - CHOH - CHZOH

(C) CH,OCH,

(D) CH;CH,OH

9 fred st @t afifrmet o
faeae & w9 v fear ST g 2

(A) C,HsOC,H

(B) C,H;OH

(©) CHsNH,

®) ccy

| %&Wﬁw@wﬁwm’rm

%! et ¥ 2

.(B) KI

(C) KCI
CH, CO\
©) CH, CO/ 0

mmﬂﬂﬁﬁqﬁaﬂaﬁm
L0k
(A) 2-WNRT

B) 1™

(C) 2-=gH

(D) - Tehigier

IE & R B T IR § et

Tt e

(A) Zn[Hg +HCI

B) Ni
(C) LiAMH,

(D) NalHg+H,0

BIMCS
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42.

43.

CqH, 0 & f w0 wom & wwmagEt
wrerre ama ¥

) 2

®) 3

© 5

D) 4

ok Reat ok e &
(A) WOR-2-30 '
®) FA2-AT
©) WR=-3-31
©) wEdE

wwmtmﬁmaﬁm
(A) CH,CHO
(B) (CH,),CO

(C) HCHO
(D) HCOOH

(A) HCHO

(B) CH,CHO

(C) CH,COCH,

(D) CH,CH,CH,CHO"

SN

(A) ®RH
(B) uivsERE

C€) g
(p)u’te&q

FeSO, + Héozwm%
(A) efert e

‘(B) wAfewe faera |

(€) T arfris
D) wm
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49.

“1‘01?'0 2 X

CH,CN _ .
3 %
Y
X and Y are respectively
(A) CH,CH,NH,, CH,COC!
(B) CH;CONH,, CH,CH,C!
(C) CH,COOH, CH,CONH,

The compounds

~ (D) CH,CONH,, CH,COOH

Dry distillstion of (CH,;CO0),Ca
produces

(A) CH,COOH

(B) CH,CHO

(C) (CHy),CO

(D) CH,COOCH,

Electrolysis of a concentrated aqueous

solution of a compound gave C,H, on
anode. The compound is

(A) €H,COOK

(B) CH,CH,COOK

(C) CH,COOC,H;

(D) CH3OCH;

210°C

’IheproductofC0+Na0H-—>is -

10 atm
(A) €0,

‘(B) CH,COONa

(C) HCOONa
®) CH,

-

The compound insoluble in acetic acid is

FANY M

A} Cal

(B) CaCO,

' 00
© 7°\ca

coo/
(D) Ca(OH),

12

sl.

52,

§3.

55,

57.

© 15

 monosaccharides in starch ?

Alkaline hydrolysis of an ester is called
(A) Neutralization
(B) Esterification

~ (C) Polymerization

(D) Saponification

What is biuret ?

(A) CH,CONH,CH,
(8) NH,CONHCONH,
(©) NH,CONH, -

(D) NH,0H

Whatis-grape-s_ugar?
(A) Starch

(B) Glucose

(C) Fructose

(D) Sucrose

How many Stereoisomers glucose has ?
(A) 10 ~®) 13

® 6

What  is

the bond between

(A) Glycosidic
(B) Peptide

(C) Phosphodiester
(D) Ester

Glucose reacts with
(A) Schiff’s reagent

~(B) Phenyl hydrazine

() NaHSO,

(D) Br,+H,0

Which one is an aldoketose ?
(A) Fructose '
(B) Glucose

(C) Maltose

. ©) Strch

BIMCS
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49.

g
CH3;CN

g,

EL A

(A) CH,CH,NH,, CH,COC!
(B) CH3CON}i2, CH,CH,CI
(C) CH,COOH, CH,CONH,
(D) CH,CONH,, CH,COOH

A X @ Y

(CH;CO0),Ca ¥ T HH | AR
T

(A) CH,COOH

(B) CH,CHO .

(©) (CH,),CO

(D) CH,COOCH,

At F W e feed ¥ R

AT W TS W C,H T 1 A &
(A) CH;COOK

(B) CH;CH,COOK

(C) CH,COOC,H;

(D) CH;0CH,

CO + Na onﬁ»wm%

10 atm
&) co,
(B) CH,COONa
(C) HCOONa

(@) CH,

wﬁﬁmqﬁ&ﬁmﬁqﬁw

(A} Csz0
\ny

(B) CaCO,
Coo

© T \ca

coo/
(D) Ca(OH),

BIMCS

51.

52.

54.

§5.

56.

57

R 1 ST - ST FEAA &
(A) SETHIHEOT :

- (B) TRAERW

(C). SgTHIH
(D) AT

TFRE TR ?

(A) CH,CONH,CH,
(B) NH,CONHCONH,
(C) NH,CONH, -
(D) NH,OH

FTT-IhTT T & 2 :
A) ®©E IR
®) T

(C) wRN

(D) T

W%ﬁmﬁﬁmmﬁi?

(A) 10

(B) 13
© 15

D) 6

mﬁmﬁmaﬁwmwﬁm
T2

(A) mﬁaﬁwﬁw

(B) U=ET

(C) BITHISRERR

(D) T&T

Wwﬂ?mﬁmm%:‘_ _

(A) P sfds
" (B) Wi EESI

(C) NaHSO,
(D) Br,+H,0

P TH IR ¢ ?
(A) RN

(B) R
(C) weRw

(D) =



59.

61.

62.

The formula of Vitamin ‘C’ is

(A) CoH,;,05N

(B) CgHgOgq

(©) CgH4NO,

(D) CyH gN;O4

This is not water soluble vitamin.:

(4 D
®) C

© B,

(D) Folicacid

The deficiency of this vitamin makes it

difficult to see in dim light :

(A A

(B) B
© C

(D) D

This vitamin is less available to
vegetarians :

A) A

(B) By

© B,

®) ¢

In the benzene sulphonation, the actlve
specie is

(A) HSO,

(B) SO,

(D) sOF

Benzene has

(A) 3 delocalized electrons
(B) . 4 delocalized electrons
(C) 6 delocalized electrons
(D) 12 delocalized electrons

14

This is a meta directing group in mono-
substituted benzene dunng substitution

‘reactions

.. (A) -C=N -

67.

(B) -NH
(C) -OH
(D) -0~

An organic compound contains
C =40%, H = 6.66% and rest is oxygen.
The empirical formula of the compound
is

(A) CH,0

(B) CHO
© C,H,0,
(D) CH,0H

Paper chromatogrephy has following

mobile = and  stationary = phases
respectively :

(A) liquid, solid

(B) solid, liquid

(C) gas, liquid

(D) liquid, liquid

In Lassaigne’s test, the following reagent
is used for testing the presence of both
N&S:

(A) AgNO; -
®) FeCl,
© Na,s

CH, COO\
©) crgcoo/Pb

For a second order reaction

k= ‘:' . a(::- ) if the concentrations of

two reactants A and B are
(A) [A]l=[B]

(B) [A]>[B]

(©) [Al<I[B]

(D) In all cases

B1IMCS



59.

61.

R CmE@EE

(A) CoH ;0N
(B) CeHgOg
(©) CgHsNO,
(D) C;oH;gN;06

mmﬁﬁlﬁuﬁmﬁn#ﬁ%:
(A) D '
®B) C

© B,

(D) wifers aret

. faefe @ e duet v
 wA Y

A) A
(B) B
©) C
D) D

7 foaoft weRIEl B H9 Iqee gar
t: .

(A) A

(®B) B,

© B,

®) C

w*mamm&
(A) HSO,
®) S0,
(©) SO,
(D) SOy

et i &

(A) 3 Rrenfer @R
B) 4 e wR
(©) 6 Tt @
D) 12 frenfe @wR

BIMCS

67.

. 64. & uNfeEmtE d=fR ¥ i

fufiean & S At Pt wE R
(A) -C=N

- ® -NH,

(C) -OH
D) -

W FEME A A C = 40%,
H = 666% 3K 9§ 0 ¥ | Affs &
AR ¥

(A) CH,0

(B) CHO

© GCHO,

(D) CH,0H

3 ’

R iR ‘lﬁ\!F": AT HJ’I"!
(A) 78,39
(B) 3, 3@
(C) M|, &
(D) =&, 7

A o #, Fe afes N el s 2.t
F e S g @ aay:

(A) AgNO,
B) FeCl,

(C) Na,S

CH, COO\
® cn,coo /™

wﬁﬁwaﬁ&aﬁaﬁmaamhl-
IR A 3R B Qi afeRet #

a(a x)°’
T e

(A) [A]=[B]

- (B) [A]>[B]

© [Al<[B]
(D) wit aftfeafert
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71.

72.

73.

100 ml H,O and 50 ml ether were mixed -

with Succinic acid. At equilibrium, ether
phase had 0.127 g and H,O phase had

- 1.843 g Succinic acid. The distribution
constant of Succinic acid between water- |

ether
(A) 7.25
(B) 14.50
(C) 3.62
(D) 10

The Van’t Hoff factor of benzoic acid
solution in benzene is 0.5. In this
solution, benzoic acid

(A) Dissociates

(B) Forms dimer

(C) Remains unchanged
(D) Forms tetramer

pl-I+pOI_-_Ii__sequal to
A0

B) 7

(C) 14

®) 10

o

In DNA, the complementary base pairs
are

(A) Aand T, G and C
(B) Gand A, TandC
(C) AandT,GandU
(D) Uand A, C and G

Atwhattemperatureareacﬁoﬁwi]]beat
equilibrium at 1 atm if AH and AS are

30.58 kJ and 66.1 JK1 respectively ?
These values do not change with

temperature in any significant fashion.

(A) 4202K
(B) 462.6K
©) 429K

(D) 642K

16

74.

75.

76.

78.

10 g hydrogen is ‘reacted with 64 g
oxygen. The amount of water formed

~ will be (in moles)

A) 3
B) 4
© 1
® 2

In Freundlich adsorption isotherm, the
value of '[l'l'is betwepn

(A) Oand1

(B) 0and0.1

(C) 2and4

(D) 1and 10

Dettol is a mixture of -

(A) Terpineol and bithional

(B) Chloroxylenol and bithional
(C) Chloroxylenol and terpineol
(D) Phenol & iodine

What is not produced within human
body ?

(A) Vitamin

(B) Hormone

(C) Enzyme

(D) DNA

Which one is an anti-histamine ?
(A). Chloramphenicol

(B) Diphenylhydramine

(C) Norothindrone

(D)  Omeprazole

h 1 1 P

(A) Hydrocarbons
(B) Esters
(C) Amines
(D) Fatty acids
BIMCS



70.

71.

7

73.

100 ml H,0 3R 50 ml % ¥ wirfe

e o T Rear | SrEER W W
W wa #0127 g AR H,0 ot wa &

1.843 g uftrafre et o T | SEER

% wey iR a1 faveror o &
(A) 725
B) 14.50

(C) 3.62

®) 10

EUIREENPOP G S S———
o 0.5 ¥ | 78 e |, aiew o

(A) Fafmaat
®) st
(C) Rt ward |
(D) ZPR T |

'pH + pOH &R ¥

@A o

- ®) 7

© 14
®) 10

 DNAXQ@waRgw ¥

(A) ASRT,G3lrC
B) G3RA,TIARC
(©) AIRT,G3RU

(D) UskA carG

wF ANRRT FR AT T IR O
a7l ? ¥ 1 atm ¥ 3R AH 3R AS & "W

#A: 30.58 kJ AT 66.1 K1 ¥ | 7w um
T ¥ O el ot Wk w0 F afve

/o .
(A) 4202K

(B) 462.6K

(©) 429K

D) 642K

BIMCS
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74.

75.

76.

78.

- 79.

10 g TR 64 UMW IEHH & WY
sfuferar & R Stor ST (el 3) 2
A 3 " :

B) 4

© 1

D) 2

s T T 3 £ A
dadeae:

(A) 031

(B) 03R0.1

(©) 23R4

®) 13k10

EC Rt S 0 5 SR

. ®) AR T AT

(©) TR s 2ot
(D) Tier 3R e

A YRR e S T
(A) Frfm |

 (B) ¥MWH

©) TR
(D) DNA

= T i ¥ 7
(A) FTHFHIET

(B) SrERFTRCRTEEA
(©) R

(D) St

et B

(A) TEIEEA

(B) X
(©) wim |
D) T4 I



81.

82.

‘Which one is a set of isoelectronic

species ?

(A) N,,CO,,CN-
(B) N,H,S,CO
(C) N,,CO,CN-
(D) Ca,Mg,Cl!

The solution of this compound will show

‘maximum ionic conductivity :

(A) K,[Fe(CN)g]
(B) [Co(NHy)ICLy

(© [CuNHy),ICl,

(@) MN(CO),]

Which one is paramagnetic ?
[at. no. Cr = 24, Fe =26]
(A) [Cr(CO)gl

MY RafrM

WU vu-v)sj

© EFe(CN)f,}‘.‘
(D) [Cr(NH,)¢**

Which is paramagnetic ?
@A) CLO

®) cio,

© CLO,

D) CLOg

If saturated solution of Ba(OH), has pH

of 12, its K, is
(A) 4x1075M3
®B) 4x1077 M3
(C) 5x10°5M3

D) 5x1077 M3

Pure water can be obtained from sea
waterby =

(A) Centrifugation

(B) Plasmolysis

(C) Reverse Osmosis

(D) Sedimentation

. 18

86.

Standard electrode potential is :

Fe?*/Fe, E° = - 0.4, Fe**/Fe?*, E° = 0.77
If Fe?*, Fe** and Fe blocks are kept
together, it will lead to

(A) increase in Fe>*

(B) decrease in Fe3*+

Fe2+
©) e remains.unchanged

(D) Fe?* decreases

Which will have highest number of j
isomers ?

(A) [Co(NH,),CL,]
~ (B) [Ni(C,0,),(en),]

(C) [Ni(en)(NH;), 1%
(D) [Cr(SCN),(NH,),I*

The rate AdTL for reaction 3A — 2B is

equal to

@ -3¢

® 3
(o -Lda

3 dt‘

Which one has p,, — d,, bond ?
(A) NO;

(B) s0;?

(C) Boj'
D) co;2

Serpeck’s process is used for bauxite

which has following main immritv -
FREARW/ALA AERALY AWSAANS ¥ 'm& J-l-l-lllu.l.x.m: L3

(A) Si0,
(B) Fe,0,

(C) Fe;0,

(D) CaO
BIMCS



81.

‘82.

ﬁqmmﬁw@mmwh
(A) N,,CO,,CN~

(B) N,H,S,CO

(C) N,,CO,CN-

(D) Ca,Mg,Cl

W s @ foam afywan smate
rerar T

(A) K,[Fe(CN)g]
(B) [Co(NH,)ICl,
(©) [Cu(NHy),ICl,
@) INi(CO),]

T A P FTTIA & 7
[9RE9] 3Hi% Cr = 24, Fe =26]
(A) [Cr(CO)q]

(B) [Fe(CO)s)

(©) [Fe(CN)gl*~

(D) [Cr(NH,)(P*

. PR STEEA T Y

(A) CLO.
(B) CIO,
(©) CLO,
(D) CLO4

3 Ba(OH), ¥ W foeram & pH = 12
%,Fh';ﬂﬂ?l{spmrm.%:

(A) 4x10°M3

(B) 4x1077 M3

©) 5x109M3

(D) 5x1077 M3

D g o T s Fsorr =
H ?

ﬂ
Ahe 1 S U 1 4w Ml ng]

T E

(A) JFrepie
(B) weHieEfay
©) T st
(D) dfeR=vm

BIMCS
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89.

S

T RS E Y

Fe?*/Fe, B° = - 0.44, Fe>t/Fe?t, E° = 0.77
Iy Fe?*, Fe3"3=ﬁTFe$Fﬁ$Q'$m‘{'@
T T '

(A) Fe3+aarrr |

PR ma; aﬂﬁq wma& 's‘iﬂ ?
(A) [CO(NH3)4C12] '

(B) [Ni(C,0,),(en), ]2

(©) [Ni(en)(NHy),J* -

(D) [CrSCN),(NH),I*

34— 2B e o w7 L

® 3%

_2d@A)
B) 7374

© -14a)

(D) +2 QL).

ﬁwﬁpn-dﬂw??

 (A) NOj;

®) SO0’
©) BO;
D) COo;?

nﬁm%ﬁrwm&-sﬁmﬁmﬂwﬁ

. aﬁ%ﬁqﬁﬁwm aﬁ;&if

(A) SiO,
(B) Fe,0,

(©) Fey0,

(D) Ca0



91,

9.

93.

@

- ©

An ideal solutlon is fonned when its |

components : _
(A) upon mixing show no change in
volume.

(B) upon mixing show no change in

enthalpy.

(C) upon mixing show neither change
in volume nor enthalpy.

(D) show high solubility. -

Which one of the following ~have
same Van’t Hoff factor as that of

K, [Fe(CN)g] ?
(®) ALS0p,
(B) NaCi

(© AINOjy),
(D) Na,SO,

How many kg of O, will be required for
complete combustion of 2.8 kg of
ethylene ?

(A) 238

(B) 64
©) 96

(D) 96

The number of moles of KMnO4 needed
to react w1th 1 mole of SOZ" in acidic

solution is

B)

= Al thls

©) 3/5

Acetylene has following bonds between
the Carbon atoms :

A) lo,2n '

B) 3o

©) 3=n

(D) 20, 1n

- 96.

At CMC, surfaemnt molecules :

(A) Hydrolyse .

(B) Dissociate -
(C) Associate
(D) Dissolve completely

For the reaction CO(g) + Cly(g) +=
COCLy(g), Kp/K is equal to

(A) VRT

" (B) RT

100.

© 7
) 1.0

The conjugate base of OH™ is
) or

-(B) O

© HO
®) 0,

The precipitate of CaF, (K, = 1.7 X 10°19)
is obtained when equal volumes of the
following are mixed :

(&) 107°MCa®* + 1M F
®) 102M Ca?* + 103MF-
(©) 10°M Ca?* + 10°3MF-
(D) 103M Ca?* + 10°M F~

‘Washing Soda is
(A) Na,CO, - TH,0

() Na,CO; - 10H,0
(€) Ne,CO;-3H,0

(D) NayCO,

BIMCS



91.

wmmﬁ?ﬁvﬁmﬁwﬁm

(A) ﬁaﬁwwﬁaﬁhﬁaﬁﬂﬁ
g | '

®) frem e § A ofed @
e |

(©) fem W e 3R wdedt o i
afad= i & |

© (D) e e R ERAE |

92.

93.

9s.

S AT WE  FwT
K, [Fe(CN)g] F T @m 2

(A) AlL(80y;
(B) NaCl
©) AINOy),
(D) Na,SO,

2.8 Foom aieele % ot TET ¥ fow fet

~ fEm o, % stewra w2

(A) 2.8
B) 6.4
(©) 9.6
(D) 96

SO} % T Wt & W e FA F

fe KMno, & fet Ww i i
afufirar sneig e d Ao 7

(A)

B)

©
D) 3/5

- L s

Qﬁﬁ?ﬂqﬁﬂﬂ?mﬁ*iﬁﬁﬁﬂ
I A €

(A) lo,2n

(B) 30

©) 3n |
D) 20,in

BIMCS
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o o W g v
(A) sea g wRE |

®) PR
(C) WgfmaEsmE |
(D) quia: goreiter & ST & |

Ffufiear CO(g) + Cly(g) ==t COCLy(g)
% foTT Kp/K o TR & ¥ -

(A) \RT
(B) RT
© ¥
D) 1.0

NLT- 27 Tt e 3
L1 MmAa “1"" LMy o

(A) O

®) 0
© HO

®) 0,

CaF, (K, = 1.7 x 1071%) %1 s ey
mﬂ&ﬁn%mﬁmwﬁw

100.

(A) Na,CO,-

(A) 10° 4M Ca?* + 10~ ‘M F-
(B) 1072M Ca?* + 10°M F~
(C) 107M Ca?* + 10°3MF
(D) 103M Ca?* + 10 M F~

oTaT |ieT ¥

' 7H,0
10H,0
3H,0

(B) Na,CO,-
(C) Na,CO,-
(D) Na,CO,

' ‘;%u...
¢ ane®
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2. Roll No,, Exammauon Centre and its Code and Test Booklet No, should be written on the Part-I of the Answer

Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the
circles corresponding to the digits be blackened with Blue / Black ball point pen only.

TG & T ¥ P W W e TR/ T % W e/ The-ghe 3 de s B ST W
TG WHRAT /W | TR F =R @ o m%wmaﬁ#&/ﬂsﬁwﬁﬁﬂ*sﬁtwwﬁaafﬂ%ﬁﬁ
ks it / et ater w9 @ W

Example : If Roll No. is 179682 and the Question Booklet No. is 14390, then

wWRO: 0 aRIEWER179682% 020w e g e 14390 &,
1[7]o]sl8]2] '14'3_9_0
[oToloo[o]@ OEIEIEIE
QI0|10|0|0|0]. D|0|0|0|®
O|®IO|I®|®|®] POI|I0|0]|0|®
QlO|IGC|6O|6G|0] 1010|000
ORIOR (O IO [OIO] ®|e|G|e|6
CIO|IC|0|60|6G C|O|C|®|®
Qle|o|0|0|0 |O|O|O|0|0
1101009 |® B|O|®|®|®
O|O|Ie|®|®0|® (oo} ol J[O]
olo|e|o|e|e] olojo|o|e

(C) Process for Filling up OMR Answer-Sheet (3e-uwes ré-1I =t v o whwa)

1.

. 'The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of

which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

s - v A | e e 3 o R T o St 4 @ et e s s & | el e
T & waifues ST fed & anr & weafem et @t Aol / et afer @iz 3 @ @ e | af w9 sefear
Tiet @t et @ Tren ¥ At % STR-TAE B W e s

Example: If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question no. 7 as

. shown below :

qRor ;AR e e 7 % fg faeew B m‘taﬂrt a’rmmvﬁmtmmﬁﬁmww |

2.

Ty

eNe.l ®®O O
QN2 ®O® O @

N’ @ @OO
(a) The;ircles.asdescribedinc-labove,are.tobedarkenedbyusingBlmelackMPointPenonly.
(@) IR T C-1 § TR T SR S B et / wrR A e T G oy |
(b) The shading should be dark and should completely fill the circle.
(@) T 3 ol @ o e @ |

Continued on the next page.
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.h

(c) Only one circle corresponding to the correct answer should be darkened as shown bclow

(T) e TR T St T @ et G o i e A R g

Correct /T8 D@ © ® |
Icomeet/ T O QOO * OPOO * OFOO « O®O O
Incorect/ T8 @ @ W O o O®P OO o @.@@ of @.'@

(d) The candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropnate circle using Blue/Black ball points pen as no change in answer once marked is allowed. Use of
erasér or white / correction fluid on the answer-sheet is not permxsslble as the answer-sheets are-machine
gradable and it may lead to ‘wrong evaluation.

(At it =t el / et sier W wew ¥ TR/ Tee mﬁwﬁmqﬁhﬂwﬁﬁ?am%m
e et ited ant o ¥ &, i et O A 0 o e At ¥ | Seewe E 6w e w R
ﬁ"zaz‘tﬁaﬁa&wﬁﬁﬁﬁ&'ﬁhmﬁﬂnﬁam&wﬂh%%ﬁ@rﬁmmﬁw

(c) If‘mﬂtethanoneclrclcmdarkenedusmgBlue!Blackballpomtpenonfﬂleresponsels marked in any other
~térinér or as shown in “Incorrect method” above, it shall be treated as wrong way of marking.

()" aﬁ'wﬁ aﬁmﬁﬁaﬂﬁa&lmﬁﬁamwﬂww&wwwﬁmﬁmmﬂmmﬁm&n&
- T ol @ s Rea ST At 3/ e SR R e |

Ronghmrk must not be done on the OMR answer-sheet. Free space ptOVlded in the question booklet should only

""beused'fortlnspurpose

- Pl retre o S o e AR R |mqﬂmqﬂamﬁm%ﬁwawﬁmmﬁwwt It o T
B |

- “BarCedé” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the candidature
\m.llbe’rcjected

LT P wﬁmmmmwmmﬁwmwmﬁaﬁwﬁwﬁim
- epdreelt W grdamdt TeE % & s |

.. Candidats-must not leave any mark of identification on any part of the Answer Sheet except Part-I of the OMR
_“"Answet Sheet as this may lead to disqualification.

mmirmé-l%aﬁﬁaﬁww?ﬁﬁmmwwmwmqmﬁwasﬁmwmﬁ#

'ﬁwsizﬁmmmﬁmmﬁh%l

;. 'For#cnﬁéatlon of your handwriting, it is necessary to write the prescribed Text completely which is printed on the

* back s:d’d‘o‘f the Part-I of OMR answer-sheet and also put your sxgnaun'e on specified space in Hindi & English
otherwise your answer-sheet / candidature will be rejected.

AR, FHCTH S -1 & TS 3ifteet merier H FRER st swafats 3 g w7 & frast s g semw
ol o it Freffer o W | gty st & g 28 afvard & | G e W e SR-or / Seieart
Ty R fr SR

In cagel yon do not follow the instructions as given on the backside of OMR answer-sheet, your answer-shaet is

- liakfle @ be'rejected for which you yourself will be fully responsible.
| S e S %mm*wmﬁﬁﬂﬁﬁ&ﬁwwﬂﬁmﬁmmwwﬁmmm

'-tmmmqﬁm#mﬁﬂﬁ I
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